Name:__________________________________________________
 
Date:________________________

Class:___________________________________________________

Subject:______________________

C

Directions: Complete the following table:
	1 x 1=
	1 x 2=
	1 x 3=
	1 x 4=
	1 x 5=
	1 x 6=
	1 x 7=
	1 x 8=
	1 x 9=
	1x 10=


	2 x 2=
	2 x 3=
	2 x 4=
	2 x 5=
	2 x 6=
	2 x 7=
	2 x 8=
	2 x 9=
	2 x 10=


	3 x 3=
	3 x 4=
	3 x 5=
	3 x 6=
	3 x 7=
	3 x 8=
	3 x 9=
	3 x 10=


	4 x 4=
	4 x 5=
	4 x 6=
	4 x 7=
	4 x 8=
	4 x 9=
	4 x 10=


	5 x 5=
	5 x 6=
	5 x 7=
	5 x 8=
	5 x 9=
	5 x 10=


	6 x 6=
	6 x 7=
	6 x 8=
	6 x 9=
	6 x 10=


	7 x 7=
	7 x 8=
	7 x 9=
	7 x 10=


	8 x 8=
	8 x 9=
	8 x 10=


	9 x 9=
	9 x 10=


	10 x 10=


(1) 
[image: image1.png]Which mathematical expression is equivalent to the number sentence below?

Subtract 15 from 45, and then divide by 3.




[image: image2.png]oo w>

3+ (45-15)




(2) 

[image: image3.png]Nail Type By Letter Length (inches)

F 1.241
G 1.236
H 1.274
J 0.944
K 0.942



[image: image4.png]Based on the table above, which of the following comparisons of nail length is true?

A F>H

B J<K





Directions: Answer all parts of the questions completely.  Show all work.  Explain work using math vocabulary.

Lance and his little cousin are at the carnival that has a small ferris wheel and a big ferris wheel.  Lance get on the large ferris wheel at the same time his little cousin gets on the small ferris wheel.  The rides begin as soon as you are both buckled into your seats.  

a. [image: image5.jpg]


Figure out the number of minutes that will pass before you and your cousin are both at the bottom again if the large wheel takes 5 minutes to go around once and the small wheel takes 2 minutes to go around once.

Show your work by completing the table
	Large Ferri Wheel
	Small Ferris Wheel

	5 x 1
	5 minutes
	2 x 1
	

	5 x 2
	10 minutes
	
	4 minutes

	5 x 3
	
	2 x 3
	

	
	20 minutes
	
	8 minutes


Answer: _____________________________ minutes will pass before both ferris wheels are at the bottom.

b. If both of the ferris wheels start at 12:00.  
· What is the first time you and your cousin will both be at the bottom?

Show your work:
Answer:______________________________________________

· If the ride continues, is it possible that both you and your cousin will be at the bottom at 12:40?  

Show your work & Explain:
Answer:_______________________________________________

It is ____________________________ that we will both be at the bottom at 12:57 because ____________________________ __________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________ . 

Directions: Answer all parts of the questions completely.  Show all work.  Explain work using math vocabulary. 

The Parents Teachers Association (PTA) at your school donated school supplies to help increase student creativity and student success in the classroom.  When you receive the supplies, you notice the colored pencils are packaged 12 boxes to a case, the rulers are packaged 30 to a box, and glue sticks are packaged 4 to a box. 

[image: image6.emf]
1. In September, the PTA ordered 2 boxes of colored pencils and 12 boxes of glue.   They have a total of 24 packages of colored pencils and 48 glue sticks.  They want to make supply kits for students.   Each kit should have the same number of colored pencils and glue.  What is the largest number of supply kits that can be created with an equal number of colored pencils and glue in each?
Show your work:
Factors of 48: 1, 2, 3, 4, 6, 8, 12, 16, 24, 48
Factors of 24: _______________________________________________________________

Answer:______________________________________________

· How many packages of colored pencils and glue sticks will be in each supply kit?

Show your work:
Answer:______________________________________________
2. In December, the had 1 box of colored pencil packages left and 1 box of rulers left.  The PTA wants to make surprise supply kits for holiday gifts.  Once again, they want to make the largest possible amount of supply kits.  Each supply kit must have an equal number of colored pencils, and rulers.  What is the greatest number of supply kits that the PTA can put together? 

Show your work:
Answer:_____________________________________________
